Parameter Value

Direct and indirect CP violation
RE [10_3] 3.545 +0.082 + 0.048

Yyt [1073] 51+ 1.2 £0.7
o2+ [1075) 49+ 6.0 +£3.6
Ry [1073]  3.59140.081 £0.048
y'~ [1073] 45+ 1.2 +£0.7
x?~ [1077] 6.0+ 58 +3.6
x2/ndf 85.9/98

No direct CP violation
Rp [107%] 3.568+0.058 £0.033
Yyt [1077] 4.8+ 0.9 £0.6
2T [1077] 6.4+ 4.7 £3.0
y'~ [1073) 48+ 0.9 +0.6
z'2~ [1075) 46+ 4.6 +3.0
x?/ndf 86.0/99

No CP violation

Rp [1073]  3.568 +£0.058 4 0.033

10

Y (1073 48+ 0.8 +0.5
107°] 554 4.2 £26

x?/ndf 86.4/101




